- Ba T BRI B ERRTH Ehigiser B (H A A & O EA)
SRTHES A 1A BIE SFTHE6H 1 HBE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 L B L 24
w—TH 340 346 686 285 338 345 683 282 YAND A1 VANRS! YANIS
EIL=TH 304 326 630 243 302 326 628 243 A\ 2 0 A\ 2 0
EIL=TH 486 532 1,018 414 486 529 1,015 413 0 JANIS VANRS! A1
=LY H 216 247 463 181 215 247 462 180 VAR | 0 VAR | yAND |
EILILTH 142 138 280 146 143 137 280 146 1 A1 0 0
iﬁlﬂé}%ﬁ‘ 1,488 1,589 3,077 1,269] 1,484| 1,584 3,068 1,264 YANE.! VANES! A9 VANRS)
WHRAE—TH 109 122 231 93 111 123 234 94 2 1 3 1
WHRE-TH 210 231 441 174 207 230 437 173 VANRS! A1 YANE.! yAND |
WRE=TH 285 341 626 249 287 342 629 249 2 1 3 0
WRAEMTH 139 143 282 122 139 142 281 122 0 A1 yANR | 0
WRELTH 244 254 498 197 244 254 498 197 0 0 0 0
WRENSRTH 282 271 553 224 282 271 HH3 224 0 0 0 0
WREARE 1,269 1,362 2,631 1,059} 1,270 1,362 2,632 1,059 1 0 1 0
WREH—TH 452 448 900 355 453 445 898 356 1 VANRS! YAND 1
WRAER - TH 538 H3hH| 1,073 358 538 5R15) 1,073 358 0 0 0 0
W RAMEATF 990 983 1,973 713 991 980 1,971 714 1 VANRS! YAND 1




ZIL - REeT BRI DOMEETIH xR (EARADRH)
SRTHES A 1A BIE SFTHE6H 1 HBE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 L B L 24
w—TH 337 341 678 279 337 340 677 278 0 A1 A1 A1
EIL=TH 302 322 624 241 300 322 622 241 A\ 2 0 A\ 2 0
EIL=TH 484 5201 1,004 407 484 517 1,001 406 0 JANIS VANRS! A1
=LY H 215 244 459 179 214 244 458 178 VAR | 0 VAR | yAND |
EILILTH 113 134 247 117 113 133 246 116 0 A1 A1 A1
iﬁlﬂé}%ﬁ‘ 1,451 1,561 3,012 1,223} 1,448 1,556 3,004| 1,219 A 3 VANES! YANE:: JANE.!
WHRAE—TH 109 120 229 93 111 121 232 94 2 1 3 1
WHRE-TH 210 231 441 174 207 230 437 173 VANRS! A1 YANE.! yAND |
WRE=TH 282 340 622 247 284 341 625 247 2 1 3 0
WRAEMTH 138 142 280 121 138 141 279 121 0 A1 yANR | 0
WRELTH 243 253 496 197 243 253 496 197 0 0 0 0
BWRERNTH 282 270 552 224 282 270 HH2 224 0 0 0 0
WREARE 1,264 1,356 2,620 1,056} 1,265 1,356 2,621| 1,056 1 0 1 0
WREH—TH 450 448 898 355 451 445 896 356 1 VANRS! YAND 1
WRAER - TH 538 H31| 1,069 358 538 H31 1,069 358 0 0 0 0
W RAMEATF 988 979 1,967 713 989 976 1,965 714 1 VANRS! YAND 1




==L REe T BRI OREETH xR GHE A DA)
SRTHES A 1A BIE SRTHECH 1 HBE L HE IR
wixg | B | 4 | A |t B | & | E || B | & | EF [#eEEk
w—TH 3 5) 8 6 1 5 6 4 YAND 0 YAND A 2
EIL=TH 2 4 6 2 2 4 6 2 0 0 0 0
EIL=TH 2 12 14 7 2 12 14 7 0 0 0 0
=LY H 1 4 2 1 3 4 2 0 0 0 0
EILILTH 29 4 33 29 30 4 34 30 1 0 1 1
iﬁu_l/a}%{‘ 37 28 65 46 36 28 64 45 VAR | 0 VAR | yAND |
WHRAE—TH 0 2 2 0 0 2 2 0 0 0 0 0
WHRAETH 0 0 0 0 0 0 0 0 0 0 0 0
WRE=TH 3 1 4 2 3 1 4 2 0 0 0 0
WRAEMTH 1 1 2 1 1 1 2 1 0 0 0 0
WRELTH 1 1 2 0 1 1 2 0 0 0 0 0
WREANTH 0 1 1 0 0 1 1 0 0 0 0 0
WREEE 5 6 11 3 H 6 11 3 0 0 0 0
WRAERE—TH 2 0 2 0 2 0 2 0 0 0 0 0
WREETH 0 4 4 0 0 4 4 0 0 0 0 0
W REREAH 2 4 6 0 2 4 6 0 0 0 0 0




